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A set of data consists of 3, 3, 6, 4, and 9. The . Thirteen students took a math test. The number of
median for these data is errors was 3,7, 4,0,4,1,5,4,7, 3,4, 5, and 7
What is the mode of this distribution?




9. Find the range of the following data: 72, 89, 41,
73, 72, 91

!
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A. mean = mode B. mean > mode

C. mean = median D. mean < median

11. What could be the approximate value of the
correlation coefficient for the accompanying scatter
plot?

y

A. -08 B. -016 C. 021 D. 090

page 2

12.

Which graph represents data used in a linear
regression that produces a correlation coeflicient

closest to —17

A. V. .
C. V....
D. Y
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13.

Which scatter diagram shows the strongest positive
correlation?

A

In the physics lab, Thelma determined the kinetic
energy, KE, of an object at various velocities, V,
and found the linear correlation coefficient between

KE and V to be +0.8. Which graph shows this
relationship?




15.

There is a negative correlation between the number
of hours a student watches television and his or
her social studies test score. Which scatter plot
below displays this correlation?
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16.

Which equation most closely represents the line of
best fit for the scatter plot below?
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A y=x B. y=%x+1
C. y=32 =3
- Yy=35x+4 D. y=sx+1
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The number of hours spent on math homework
each week and the final exam grades for twelve
students in Mr. Dylan’s algebra class are plotted
below.

Mr_Dulangace

What is the relationship between the independent
and dependent variables in the scatter plot shown
below?

100




19.  The scatter plot below represents the relationship

between the number of peanuts a student eats and
the student’s bowling score.

20. The graph below illustrates the number of acres

used for farming in Smalltown, New York, over
several years.




23.  Which number is a common factor of 36 and 562 28. The student council is making gift bags for a
fund raiser. They have 105 bags, 150 pens,
115 notebooks, 330 pencils, and 190 highlighters.
A 4 B. o6 C. 8 D. 9 If each gift bag consists of one bag, 2 pens,
1 notebook, 3 pencils, and 2 highlighters, what is
the greatest number of gift bags that can be made?

A 75 B. 95 C. 105 D. 110

24.  Kelly chose a mystery number. Her mystery
number is a factor of 38. Which number could be

Kelly’s mystery number?

A 2 B. 3 C. 4 D. 8 29 A pet store has 24 hamsters, 36 rabbits, and
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30. For an assembly, 105 chairs will be set up using
the fewest possible rows.

» There will be the same number of chairs
in each row.

o There will be more than one row of chairs.
26. Which is the greatest common factor (GCF) of 36
and 787 What will be the number of chairs in each row?

A 4 B. 6 C. 9 D. 13 A 3 B. 5 C 2 D. 35

27 What greatest common factor should be used to 31 Simplify the expression.

reduce the fraction  to its simplest form? 9
70 P s+ -

Al 2 B. 7 C. 10 D. 14
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1 3 5
4<5+§)‘§
1 1 3
A L c. i D. & . . 3
A g B. 2 C. 2, D. 52
37. Which is equal to +/1800 in simplest radical form?
3-4(1)+7
A. 2000 B. 10V18
A 3 B. 61 c. 7k D. 8
C. 30v2 D. 60
2 3
1 =
34. What is the value of (—) ? 38 VI6+ V8
A 4 B A C. 9 D. 10
1 1 1 1
39. What is the simplified form of the expression
V4507
35. Subtract ~3 - (-2)
A 152 B. 45v2
A -14 B -4 c 4 D. 1L
o B B 1 C. 152 D. 225V2
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